ro

Ffp &

"y #HE T (mm) LR (mm)
~ [n[wlwelel L [ e [ [u [t [ulnwilm[ e[ w0 |
X

BRH15A 24 47 16 4.6 66  38x30 M5x8 40 @3 43 5 15 14 60 4.5%7.5%5.3
BRH25A

36 70 235 7 57x45  M8x12 M6x1 5 6.5 23 22 60 7x11x9
BRH25AL
BRH35A

48 100 33 9.5 82x62 M10x13 M6x1 8 6.5 34 29 80 9x14x12
BRH35AL
BRH55

70 140 43.5 15 116x95 M14x20 M8x1 11 13 53 44 120 16x23x20
BRH55AL 2051 156.1

\\

'J-Z’H(mm) FEA i 2 (kgf) BV 156 (kgf*m) Eg(mm)

iRt 1R NEET
L max BAGE 7147 (G) ERAIE 117 (G)
(kgf) (kgf/M)

BRH15A 4000 20 1650 0.19

BRH25A 2140 4000 0.57 -
BRH25AL 2996 5600 504 448 434 072 i
——---
BRH35A 3960 7010 73 )
BRH35AL 5230 9270 "
_-l——---'
8330 14950 267 210 210 36
BRH55A 9940 17100 ‘6

BRH55AL 12820 22060 473 380 375 6.4





